H O & =

BRI AT H 2 9 BT LIZR 5 ILF AR5 H T e 2 B i T 3231 28K DOEH IS
% Bl 7213440 (RRIHNAL — RO B IZHOW TEHAL TR < &%) 1220 T, BROElRD & ¥
DEET D,

Llb, Bl&EOIEE LTAE 2 BLElk L, YFEEMEAMTRIO L £ 182RAT 2,

s

e

E#H

ERT

K4

ERT

K4

THERFHTER 1 3 4

IS AT RS E
B R 5 B (SR V) 3R S5 T
AN

TIEEFHTHESTH9 5 7 HHD 1

FATH A R RNt

RERR W F—

406408 H 12 H

[E Az BE s HE i =



NAWA

il

*

THEXSy « T - FER - 5 B % FREAL K B G EHAMm & H T2 (BB
BV
= 1 142, 159, 390
N+
= 1 16, 391, 261
i L (ICT)
= 1 370, 830
R (1CT) W -7yt FEEFEMEL 5, 000m3
A
m3 940 394.5 370, 830
4T
= 1 1,199, 310
AR (Bt) ik 2. bmA
m3 100 6, 062 606, 200
B (EER) RS - 2. 5mPA_ 4. OmA;
m3 740 801.5 593, 110
T (ICT)
= 1 10, 589, 155
FRAA (ZE88) B 1 (ICT)
m3 9, 900 239.2 2, 368, 080
b S T Cadl- ERIRY L&)
= 1 5, 788, 364
FEHA (-27) +wp 1850, 000m3 AT
= 1 2,432, 711
R FEIE T (CT)
= 1 4, 231, 966
RS (B) 1350) (ICT) VIR - b R OV - kG -
m2 940 819. 4 770, 236
LR (& 1=358) (ICT) A [ D M L
m2 6,670 519 3,461, 730

Ao BE A5 2 i =




NAWA

il

*

THEXSy « T - FER - 5 B % FREAL K B G EHAMm & M| TZ (BB
AT
= 1 11, 591, 321
E¥ELT
= 1 1,015, 290
RIE +Hp
= 1 123, 150
IR L
= 1 819, 077
FEHHEIE
= 1 73, 063
T
= 1 9, 766, 628
7 VAN ) =h 1OHM JElE 6lcm & 50cm
m 138 41, 895 5,781, 510
7 VAN ) =h 265HMA JEME 70cm & 50cm
m 82 48, 599 3,985, 118
R L
= 1 809, 403
NS LOHAY JANESHAAR AR & 2m
FEIRFTIAR 1.5m ST
Sl#&E 0m
e 21 38, 543 809, 403
LR L
= 1 112, 427, 365
E¥LT
= 1 141, 609
R IE
= 1 141, 609
/)Y =7 ny) T.CE7 ny ) 3E)
= 1 4,072, 029
-2- E hzzim B SH A R




NAWA

il

*

THEXSy « T - FER - 5 B % FREAL K B G EHAMm & M| TZ (BB
7y R AAE KALEAET 1y 950X 950 X
250
m2 263 15, 483 4,072, 029
) =7 ny) T GHEER7 ny/58)
= 1 89, 578, 762
EE7 ny )k 350ke/m2LL F JE25cm
m2 5,103 16, 897 86, 225, 391
EE7 ny )k 350ke/m2LL F JE25cm
£+ (R
m2 398 5, 747 2, 287, 306
EE7 ny )k 350ke/m2LL F JE25cm
()
m2 71 15, 015 1, 066, 065
IR L
= 1 516, 014
7" VEab A Ik g 30cm @& 50cm
m 23. 22, 242 516, 014
WA T
= 1 12, 250, 350
e IEZ T 500m2LA b
m2 7,140 1, 629 11, 631, 060
ke 5522
m2 630 983 619, 290
BmET
= 1 5, 868, 601
7 (R
m3 2,700 1,345 3, 631, 500
b S T Cadl- ERIRY L&)
= 1 1, 567, 624
FEHA (-27) +wb 1850, 000m3 AT
= 1 669, 477
-3- E hzzim B SH A R




HOfl =%

THEXSy « T - FER - 5 B % FREAL K B G EHAMm & M| TZ (BB
HEEE L
= 1 905, 479
LR A
= 1 752, 220
7 ey iR
(FFFI1 )
m2 398 1, 890 752, 220
e B LT
= 1 60, 699
SRR LT TAT7WMEHEERR 15emEl
= 1 7,086
LB TAT7VMEHEERR SHEERRE 5 c m
m2 267 200. 8 53,613
TEHRALEE T
= 1 92, 560
I TAT 7 Wbk
m3 13 3, 452 44, 876
ALy TAT 7 Wbk
m3 13 3, 668 47, 684
G an
= 1 843, 964
THAEK T
= 1 843, 964
SRR 22X 1,524 X6, 096 (mm) FRE - =
= 1 843, 964
[EEPIE % ¢
= 1 142, 159, 390
B
= 1 15, 883, 632

-4 - (] - xzid BE A T i




HOfl =%

THEXSy « T - FER - 5 B % FREAL K B G EHAMm & M| TZ (BB
B3 TS
= 1 5, 960, 852
TR
= 1 2, 633, 829
TR B S MR ST s
= 1 1,102, 020
RN S
= 1 1, 531, 809
el
= 1 906, 540
& R
= 1 906, 540
s g
= 1 1,142, 139
PR B (ICT)
= 1 89, 710
VAT AT (ICT)
= 1 1,052, 429
BGmEsET (K3 L)
= 1 1,278, 344
MR E (FEH L)
= 1 9,922, 780
Wi
= 1 158, 043, 022
s
= 1 37, 883, 806
T AT
= 1 195, 926, 828

-5 - (] - xzid BE A T i




HOfl =%

THEXSy « T - FER - 5 B % FREAL K B G EHAMm & M| TZ (BB
— R
= 1 30, 373, 172
TS
= 1 226, 300, 000
THEBUFH Y %H
= 1 22, 630, 000
TH#&G
= 1 248, 930, 000

-6 - (] - xzid BE A T i




